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1. Introduction
In RAN4#101-e meeting, CQI requirements for inter-cell interference MMSE-IRC receiver were discussed, a way forward was agreed in [1]. In this contribution, we provide our views on remaining issues.
2. [bookmark: OLE_LINK1][bookmark: OLE_LINK2]Discussion
2.1. Interference Model
NZP CSI-RS on target cell
Agreement in RAN4#101-e meeting:
· Overlaps with NZP CSI-RS from interference
In last meeting, we had agreed that NZP CSI-RS on serving cell overlaps with NZP CSI-RS on interference cell. However, some companies concern that this agreement will be invalid when interference cell is 1Tx and serving cell is 2Tx, because the port number of NZP CSI-RS between serving cell and interference cell is mismatched, we provide an example in Figure 1 and Figure 2.
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Figure 1. NZP CSI-RS on serving cell
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Figure 2. NZP CSI-RS on interference cell


However, in this test assumption working phase, 2Tx shouldn’t be precluded due to this agreement. If companies have strong concern about this mismatch issue, we can revisit the NZP CSI-RS conclusion.
We propose a modification for this agreement:
· If the Tx antenna of serving cell is 2Tx
· One port of NZP CSI-RS on serving cell overlaps with NZP CSI-RS from interference, the other port of NZP CSI-RS on serving cell overlaps with PDSCH/OCNG from interference.
· If the Tx antenna of serving cell is 1Tx
· NZP CSI-RS on serving cell overlaps with NZP CSI-RS from interference.
Proposal 1: 2Tx shouldn’t be precluded due to the agreement about NZP CSI-RS relation between target and interference cells.
Proposal 2: If modification for NZP CSI-RS agreement is needed, we propose to revisit as follows:
· If the Tx antenna of serving cell is 2Tx
· One port of NZP CSI-RS on serving cell overlaps with NZP CSI-RS from interference, the other port of NZP CSI-RS on serving cell overlaps with PDSCH/OCNG from interference.
· If the Tx antenna of serving cell is 1Tx
· NZP CSI-RS on serving cell overlaps with NZP CSI-RS from interference.
3. Conclusion
In this contribution, considering of different Tx assumption for serving and interference cell, we provide our views on NZP CSI-RS configuration. Our proposals are:
Proposal 1: 2Tx shouldn’t be precluded due to the agreement about NZP CSI-RS relation between target and interference cells.
Proposal 2: If modification for NZP CSI-RS agreement is needed, we propose to revisit as follows:
· If the Tx antenna of serving cell is 2Tx
· One port of NZP CSI-RS on serving cell overlaps with NZP CSI-RS from interference, the other port of NZP CSI-RS on serving cell overlaps with PDSCH/OCNG from interference.
· If the Tx antenna of serving cell is 1Tx
· NZP CSI-RS on serving cell overlaps with NZP CSI-RS from interference.
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